Sept 30, 2021 Math 251: Quiz 5

Name: 450_11?"“ Gn‘S

There are 25 points possible on this quiz. No aids (book, calculator, etc.) are permitted. Show all
work for full credit.
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1. [12 points] Find d_y You do not have to simplify
X

a. y=1—2x+xsec(x)
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b. y=8u’, u = tan(x)
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2. [5 points] Use the chart to determine the derivative of 4(x) = f(x>+1) — (g(x))? atx = 1.

x| f) | fx) | glx) | ¢'(x)
of 2 [ 1 [0 1
11 [ 23 [04
2 1 [ 2 3 4
30 [ 4 [ 3] 2

W) =4 %) GR)- 29646 )
h/ (= £ /[lz-rb (2) - 2(560)(3 /(1\>

=f'2-2-34 = —2-2-—24@

3. [8 points] Given f(x) = (3x—8)® — 17x

a. Find f'(x)

5
£'6)z ¢(3x-8) 317
5
=3 (3x-8) —I#

b. Find all x-values when the tangent line to f is parallel to y =x —2

Find X sothat £/¢=1. 3)(—8: /
5o /@(5,<-935_—17=/ Ix=9

18 3x-8Y =18 Cx=3>

(3%-8) =
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